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#include "math.h"
void strq(a,n,q,b,c)
int n;
double all,ql[l,b[]l,c[];
{ int i,3,k,u;
double h, f,g,h2;
for (i=0; i<=n-1; i++)
for (§j=0; j<=n-1; j++)
{ u=i*n+3j; qlul=alul;}
for (i=n-1; i>=1; i--)
{ h=0.0;
if (i>1)
for (k=0; k<=1i-1; k++)
{ u=i* n+k; h=h+q[ul] * glul;}
if (h+1.0==1.0)
{ c[1]=0.0;

else
{ cli]=sqgrt(h);
u=i*n+i-1;
if (q[ul>0.0) c[i]l=-c[i];
h=h-glul ¥ c[i];
qlul=qglul-c[i];
« 103 -



£f=0.0;
for (j=0; j<=i-1; j++)
{ qlj*n+til=qli*n+3j]/h;
g=0.0;
for (k=0; k<=3j; k++)
g=g+q[j * ntk] * q[i* n+k];
if (J+1<=1i-1)
for (k=3+1; k<=1i-1; k++)
g=g+qlk*n+3j] * q[i* n+k];
clil=g/h;
f=f+g* q[j* n+i];
}
h2=f/(h+h);
for (3=0; j<=1i-1; j++)
{ f=gqli*n+3j];
g=c[j]l-h2x* £;
cljl=g;
for (k=0; k<=3j; k++)
{ u=3j * nt+k;

glul=qglul-f*cl[kl-g* gq[i*n+k];

for (i=0; i<=n-2; i++) c[i]=c[i+1];
c[n-11=0.0;
b[0]=0.0;
for (i=0; i<=n-1; i++)
{ 1f ((b[1i]1!=0.0)&&(1i-1>=0))
for (j=0; j<=i-1; j++)
{ g=0.0;
for (k=0; k<=1i-1; k++)
g=g+qli*n+k] *x gqlk*n+j];
for (k=0; k<=1i-1; k++)
{ u=k*n+3j;

qlul=qlul-g* gqlk* n+i];

}
u=i*n+i;
blil=qgq[ul; g[u]l=1.0;
if (i-1>=0)
for (j=0; j<=i-1; j++)
{ gli*n+31=0.0; q[j*n+i]=0.0;}
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return;

}
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#include "stdio.h"
finclude "5strg.c"
main ()
{ int i,3;
double b[5]1,c[5],9[5]1[5];
double a[5][5]=1{ {10.0,1.0,2.0,3.0,4.0},
{1.0,9.0,-1.0,2.0,-3.0},{2.0,-1.0,7.0,3.0,-5.0},
{3.0,2.0,3.0,12.0,-1.0},{4.0,-3.0,-5.0,-1.0,15.0}};
strg(a,5,q,b,c);
printf ("MAT A IS:\n");
for (i=0; i<=4; i++)
{ for (3=0; j<=4; j++)
printf ("$13.6e ",alil[j]);
printf ("\n");
}
printf ("\n");
printf ("MAT Q IS:\n");
for (i=0; i<=4; i++)
{ for (3=0; j<=4; j++)
printf ("$13.6e ",qli]l[j]);
printf ("\n")
}
printf ("\n");
printf ("MAT B IS:\n");
for (i=0; i<=4; i++)
printf ("$13.6e ",b[i]);
printf ("\n\n");
printf ("MAT C IS:\n");
for (i=0; i<=4; i++)
printf ("$13.6e ",c[i]);
printf ("\n\n");
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MAT A IS:

1.000000e+001 1.000000e+000 2.000000e+000 3.000000e+000 4.000000e+000

1.000000e+000 9.000000e+000 =-1.000000e+000 2.000000e+000 -3.000000e+000

2.000000e+000 -1.000000e+000 7.000000e+000 3.000000e+000 -5.000000e+000

3.000000e+000 2.000000e+000 3.000000e+000 1.200000e+001 -1.000000e+000

4.000000e+000 -3.000000e+000 -5.000000e+000 -1.000000e+000 1.500000e+001

MAT Q IS:

-3.845416e-002 -8.269598e-001 3.054904e-002 5.601120e-001 0.000000e+000

-8.685653e-001 -2.401904e-001 .069216e-001 -4.200840e-001 0.000000e+000
4.492444e-001 -5.037103e-001 -2.329364e-001 -7.001400e-001 0.000000e+000
2.056576e-001 -6.871667e-002 9.661134e-001 -1.400280e-001 0.000000e+000
0.000000e+000 .000000e+000 .000000e+000 0.000000e+000 1.000000e+000

MAT B IS:
9.295202e+000

1.162671e+001

1.096044e+001

6.117647e+000

1.500000e+001

MAT C IS:

-7.494847e-001 -4.496268e+000 =-2.157041e+000 7.141428e+000 0.000000e+000
B 91 = 3 6

9.295202  —0.7494847
—0.7494847  11.62671 —4.496268
T = —4.496268 10.96044  —2.157041
— 2.157041 6.117647  7.141428
7.141428 15.00000
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int sstq(n,b,c,q,eps, 1)
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#include "stdio.h"

#include "math.h"

int sstg(n,b,c,q,eps, 1)

int n,1;

double b[],c[],ql],eps;

{ int i,j,k,m,it,u,v;
double d,f,h,qg,p,r,e,s;
c[n-1]=0.0; d=0.0; £=0.0;
for (3j=0; j<=n-1; j++)

{ it=0;
h=eps * (fabs(b[j])+fabs(c[j])):
if (h>d) d=h;
m=7j;

while ((m<=n-1)&& (fabs(c[m])>d)) m=m+1;

if (m!=3)
{ do
{ if (it==1)
{ printf ("fail\n");
return (-1);

}

it=it+1;

g=bljl;

p=(b[3+1]-9)/(2.0% c[]]);
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r=sqrt(p* p+1.0);
if (p>=0.0) b[jl=c[j]1/(p+r);
else b[jl=c[j]/(p-1r);
h=g-b[j];
for (i=j+1; i<=n-1; i++)
b[i]=b[i]-h;
f=f+h; p=b[m]; e=1.0; s=0.0;
for (i=m-1; i>=3; i--)
{ g=ex*c[i]; h=ex*p;
if (fabs(p)>=fabs(c[i]))
{ e=c[i]/p; r=sqgrt(e* e+1.0);
cli+l]l=s*p*r; s=e/r; e=1.0/x;
}
else
{ e=p/c[i]; r=sqrt(e* e+1.0);
cli+tl]=s*c[i] * r;
s=1.0/r; e=e/r;
}
p=ex*Db[i]-s*g;
b[i+1l]=h+s* (e*x gts*Db[i]);
for (k=0; k<=n-1; k++)
{ u=k*n+i+1; v=u-1;
h=qg[u]; glu]l]=s* g[v]+ex* h;
alvl=ex glv]-s*h;

}
cl[jl=s*p; b[jl=e*p;
}
while (fabs(c[j])>d);

for (i=0; i<=n-1; i++)
{ k=1; p=Db[i];
if (i+1l<=n-1)
{ j=1i+1;
while ((j<=n-1)&&(b[jl<=p))
{ k=3; p=bl[3]; j=3+1;}
}
if (k!=1)
{ blkl=b[i]; b[i]=p;
for (§j=0; j<=n-1; j++)
{ u=j*n+i; v=J * ntk;

p=qlul; gqlul=qlv]; glv]=p;
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}

return (1);

}
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#include "stdio.h"
#include "5sstqg.c"
#include "5strg.c"
main ()
{ int i,3,k,1=60;
double q[5][5],b[5],c[5];
double a[5][5]={ {10.0,1.0,2.0,3.0,4.0},
{1.0,9.0,-1.0,2.0,-3.0},{2.0,-1.0,7.0,3.0,-5.0},
{3.0,2.0,3.0,12.0,-1.0},{4.0,-3.0,-5.0,-1.0,15.0}};
double eps=0.000001;
strq(a,5,q,b,c);
k=sstqg(5,b,c,q,eps,1);
printf ("MAT A IS:\n");
for (1=0; i<=4; i++)
{ for (3J=0; j<=4; j++)
printf ("$13.6e ",ali][]j]);
printf ("\n");
}
printf ("\n");
if (k>0)
{ printf ("MAT B IS:\n");
for (1=0; i<=4; i++)
printf ("$13.6e ",b[i]);
printf ("\n\n");
printf ("MAT Q IS:\n");
for (i=0; i<=4; i++)
{ for (3=0; j<=4; j++)
printf ("%$13.6e ",ql[il[j]);
printf ("\n");
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}

}

printf ("\n");

BATER N

MAT A IS:

1.000000e+001 1.000000e+000 2.000000e+000 3.000000e+000 4.000000e+000
1.000000e+000 9.000000e+000 =-1.000000e+000 2.000000e+000 -3.000000e+000
2.000000e+000 -1.000000e+000 7.000000e+000 3.000000e+000 -5.000000e+000
3.000000e+000 2.000000e+000 3.000000e+000 1.200000e+001 -1.000000e+000
4.000000e+000 -3.000000e+000 -5.000000e+000 1.000000e+000 1.500000e+001

MAT B IS:

6.994838e+ 000

9.365555e+000

1.655266e+000

1.580892e+001

1.917542e+001

MAT Q IS:
6.540830e-001 5.215112e-002 3.872969e-001 -6.237025e-001 1.745051e-001
1.996813e-001 -8.599639%e-001 -3.662210e-001 -1.591011e-001 -2.473025e-001
2.565105e-001 5.055751e-001 -7.043773e-001 -2.272975e-001 -3.616417e-001
-6.604027e-001 2.011666e-004 1.189262e-001 -6.926844e-001 -2.644109e-001
-1.742799e-001 -4.621920e-002 -4.534231e-001 -2.328223e-001 8.412441e-001
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void hhbg(a,n)
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#include "math.h"
void hhbg(a,n)
int n;
double al[];
{ int i,3,k,u,v;
double d, t;
for (k=1; k<=n-2; k++)
{ d=0.0;
for (j=k; j<=n-1; j++)
{ u=3*nt+k-1; t=alul;
if (fabs(t)>fabs(d))
{ d=t; i=3;}
}
if (fabs(d)+1.0!=1.0)
{ 1f (1!=k)
{ for (3j=k-1; j<=n-1; j++)
{ u=i*n+j; v=k*n+j;
t=alul]; alul=alv]; alv]=t;
}
for (j=0; j<=n-1; j++)
{ u=j*n+i; v=7 * nt+k;

t=alul]; alul=alv]; alvl=t;

}
for (i=k+1; i<=n-1; i++)
{ u=i*n+k-1; t=alul/d; alul=0.0;
for (j=k; j<=n-1; j++)
{ v=1*n+73;
alvl=alv]-t*alk*n+j];
}
for (3J=0; j<=n-1; j++)
{ v=J * nt+k;

alvl=alvl+t*alj*n+il;
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